EARAROBEEIERT — 2 N— IBISH —F

201958108 (£) 1EIFLIESH

mﬂa% 38 REEF 5T ER B R
[A&4] 1 7% :5,000,000 @ 23 :2,000,000 ™ 33 :1,300,000 ™ 43 :750,000 5 7% :500,000 {
mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. e = lIEZEY N 145, ~4-4- . . HHEZ (FXR)
XYL FrL RS "3 0 s R I Rl el B B <
L:¥rsn7aA B:xayrTY4ex YA IHSE
- e lsfE= 145. -11-4- . . BEE= (ER
HHZ rASY [B] 4 3 e (11415/46) 10-11-4-2 | 38.0 | 85.1 | 9 ;1_(132) Bt
Z:Z2hardE—r B:YaH-LTaTY A FHIS
. _ .}fb./?ﬁ\%ﬁ_ : . 2D . . EEIE%E (;i)
=TI — i 3 e 1(;/54)7 3-3-2-2 [38.3| 84.4 | 3 (4_846) mEE
L:y07% #:Y=—-0Ovy HAHHTT 7 — L4
— BEREET : -12-12- HehigrE (EiH)
12572 [B] 4 3 L 1(.14/52.)8 12-12-12-7 | 37.4 | 83.1 | 5 (fé) il
R:J4 7 bT7—EY B:TULEXHY b BT r—L
D # 3 | EEER 1:46.2 5-5-7-7 | 38.5| 80.0 | 1 488 | EEZEMR (ER)
5(5/ 7|77kl 5.0 @ 1/2) © | @ -zEerx
L:vA7x BNX/LFI—L #E /—Rex
4t 3 | MR 1:46.6 8-8-9-9 |38.5| 76.4 | 7 468 | BRAMIA (i)
6l5lg| *1 7o) —7 753.0 @ 1/2) (+18) &) HrroL—voy
L:T—IWRT7Y2—b B:AHLATIAT>R BRT7—L
o ¢ it 3 | BEEMAR 1:46.6 8-8-9-9 [38.5|76.4 | 8 452 | REEEZ (EH)
7 10| 7V E/S>H— [B] 510 () o | ® 75> ks
R:d—IWKR7Ua— BNAVYIHIIZRLR 55 Rikie
oA 3 B3 | EtELH 1:46.7 12-12-4-4 | 39.1 | 76.0 | 11 416 | BEEFGA (i)
8 5| NI YwlTx 54.0 (3/4) (-14) |FFAIEA
LTy IRy b BIE—HILTIA —RAST7—L
K > w3 | AEIEHE 1:47.0 5-6-7-9 [39.3| 73.6 | 6 444 | MAKER (FEH)
9813 A3 9T7FhY 56.0 (1 3/4) (-6) sz’itﬂﬁ
LG TATv— BV ARTF—F 42X =e)
SIS 5 4 3 | BERERRA 1:47.1 2-2-1-1 [39.8| 73.2 | 4 484 | BEERE— (FE3R)
10/ 8 14| NIV Z 2 )bz 54.0 (3/8) (1e) |BREHIILY
R:JG4 7 T—IVEY BT TUI J—HrTr—LA
p = — % 4 3 | HEHE 1:47.4 1-1-2-5 | 40.0 | 70.9 | 12 | 484 |FEHEMES (RX)
1117 11 NAZTFH—=INIL 54.0 (1 3/4) (+10) ‘}E.lwgf
V2R YRAIR F:559U—-Vay ity FEA
NPT 4 3 | EBEAK 1:47.9 5-6-11-12 | 39.7 | 66.4 | 13 | 422 |&i&EXHE (55i)
12/ 7/12| bL> FHRT A51.0 3) Cio) | @ B-LL-sy
x>y /xtx BiLy RFqL—Jb HE ki
. S # 3 | REES 1:48.1 10-8-13-13 | 39.5 | 64.5 | 10 | 468 |fAEEf— (i)
13 o | T>2—0O—K 56.0 ) (+4) | AR
L:O-T X121 B:FvAT5Yv FIEDAN ¢ ]
o o BAAA :48. -14-14- 5 . HEhiEkE (55H)
wlilil7renssy s £ 3 B 1(4‘88 14-14-14-14| 40.0 | 59.3 | 14 (4;0) il
L:RY—LVv—=— BHNFTIrot EKPS
@ 21 L
£y 50.6-38.1
NA> 24 L | 6.7-10.8-11.7-12.7-12.9-12.5-12.7-12.8-12.6
® I—F—@EBIERL
|S=7r= (x11,14) (3,9)-(7,12,13) (8,10) (2,6)-(4,5)-1
Aol=5"= (x11,14)3,9,7(12,13) (2,8,10)6-(4,5) -1
== 14(11,3) (9,6,5) (7,13)-(8,10)12,4,2,1
Mal=5r= (¥14,3,6)5(11,9) (7,4) (13,8,10)-12-2-1
[ RN
B Op 9 300M 794K 6-9 790 & 4-6 2,150M &R 3-6-9 13,400M
# B 9 250H 3-9 670M B E 6-9 3,720M EE 9-6-3 53,050
6 800 3-6 2,580 B H 9-6 5,610M
3 520M

ABICOVWTRDTEEERROODE. TR LIV,



